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What is the difference between dominant and récessive? = W= *
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What is the difference between homozygous dominant and homozygous recessive? ¢t
What does heterozygous mean? | clorninesd & Lyecessive

What is the difference between phenotype and genotype? = Pheysicet Cey ReFeATHTCS

Who is Gregor Mendel? Fuier of Gepadies

What is an allele? How many do you have per trait/gene? (1 ¢

C=genes

How did Mendel cross the P1 generation to get the F1 generation? 1055 fertitizaste
How did Mendel cross the F1 generation to get the F2 generation? 4 ¢if tertii(zed e
What is the probability of having 4 daughters in a row?

dominant amounts.

How do you solve a dihybrid cross? 0 st
. Complete a dihybrid cross with a heterozygous brown hair and eyed male and female. List all the genotypes and

phenotypes. (£

What is incomplete dominance? [ oy b
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. What is the probability of flipping a coin and getting 2 heads in a row? ¢/
. Cross 2 heterozygous round seeds. List ALL of the genotypes, phenotypes, recessive and dominant amounts. V&4
. Cross a heterozygous brown haired male and a blonde female. List all of the genotypes, phenotypes, recessive, and
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Using incomplete dominance, Cross a white snapdragon and red snapdragon flower. List the phenotypes and
genotypes of the resulting offspring. &1

Define codominance. e ¢
Using codominance, cross 2 roan cattle. List the phen
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What does it mean to have multiple alleles for a trait? jyvcie thesp 2

Explain the purpose of the Human Genome Project. {10y i¢ ¢

but AL LN €
otpre and genotypes of the resulting

hedeqvzygef €
offspring.

What is a karyotype? PicAusie of al\ CAIomosines dicied inordey | 232
When can a karyotype be seen? || o opu L Giad fder | ?

What are the male sex chromosomes?

Y

What are the female sex chromosomes? 'y

Why do males mostly ends up having this a sex-linked disorder? ©/[+ 1\l ¢ ‘
Why do geneticists use pedigree diagrams? €0 {roce oo diseese/traut

Can you identify all parts of a pedigree?

: |

Within a,'Fa.m(Iy

28. What does it mean to be a carrier? (i M¢€NCZ\/ oS [ o' vewesiy Ly
29. Fill in the following information for each of the following diseases. SRS
Describe the disease Population | Dominant/recessive | Autosomal/sex-linked
Who tends
to get this
disease?
Sickle cell anemia A el Mintitnn, e |- YR €D T 050 il
Huntington’s disease | prain deacnerotin |(Lnyort Do imingp (LT Se e
Color blindness rant see” coler ad € (255l S [ pkeid
Achondroplasia SwayEism (e il Deivine s T CLudo spmpt
Tay-Sach’s disease braun deoererativnl i Wwish {21<55uC (LieTese =%
Cystic fibrosis lupa, defedr Lihide YTl QT ined
Hemophilia Dlecd comnd el | il Y LLES5 R Sey | pded
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